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_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 BlusZ
S= 958,799 439,788 519,011
= 68,000
= 4,200
Al 886,599
ARBETAENSAL 595,799 109,788 486,011
= 68,000
= 4,200
Al 523,599
DIS&4+E RX22 97,748 109,788 A 12,040
= 4,200
Al 93,548
DIS&4E RX22 97,748 109,788 A 12,040
= 4,200
Al 93,548
201 Lere | 9,400 4,640 4,760
01 At el 7,820 3,060 4,760
OXNFO+H SYAML  560,0008 « 122 6,720
OM4Z HA ESSSUHE
55,0008 * 2004 * 13l 1,100
02 ZZ2H| 1,580 1,580 0
OZSA %4H ®II22 90,0008 * 122 1,080
OM4AZHA QUSHAN 2
5002 * 500% * 23] 500
206 T2l 4,348 3,808 540
01 MEH 4,348 3,808 540
SHANES W27 826
- XFota 1,002 * 7H4 * 143l %8
—HIXIZAE  1,0008 * 1044 * 143 140
=2 R 1,0002! * 98)H 4 * 63l 588
ontga+E 2=9%79
8382 * 3.4kg * 3652 3,502
307 BI2t0IH 14,000 15,000 A 1,000
= 4,200
Al 9,800
05 SI2t9iet3 14,000 15,000 A 1,000
OltSa4E Sistael| 14,000
= 4,200
Al 9,800
401 AlEHIL 2O 70,000 86,340 16,340
01 A& 70,000 86,340 16,340
OtSa4+EZ21Z2 4 400,008 * 98JH4 39,200
OXIZA4E SXB2IY 200,008 * 7HA 1,400
ODIS&4+E 293 4 300,0008 « 984 29,400
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HE: ARDLTASRAL
Sl ARD AT AEIHZALYS (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
AARETAENE AL 488,051 0 488,051
= 63,000
Al 425,051
AAB AT AEN ALY 488,051 0 488,051
= 63,000
Al 425,051
401 AlA&HIL 20| 488,051 0 488,051
=2 63,000
Al 425,051
01 Al&H| 488,051 0 488,051
OATR 2EAE HE A 488,051
= 63,000
Al 425,051
SERIBHRALY 10,000 0 10,000
= 5,000
Al 5,000
INZMEAIINT LTIV ABAY 10,000 0 10,000
= 5,000
Al 5,000
401 AU 2 0] 10,000 0 10,000
= 5,000
Al 5,000
01 Al&H] 0,000 0 10,000
OJZMEASIT +E2 HZAY 10,000
= 5,000
Al 5,000
HRES (S D) 363,000 330,000 33,000
TESEbE 363,000 330,000 33,000
=SIEE LB 363,000 330,000 33,000
309 BIABLHES 363,000 330,000 33,000
01 BIIASHIAHBLTES 363,000 330,000 33,000
OHASSE $523 2% Y43
5502 * 5,500KICH * 10E + 122 363,000




